
1--What is p value? And what is its range?.
	P is  probability  -- P ranges between 0 and 1
 
2--What is CI ?
	CI means confidence interval 

3--What is 95% CI?
	Our aim is to estimate the population parameter P.  As it is difficult to find population P. we take a  random sample, say 100 	and then we  find the sample p . 
	then we calculate 95% CI. As follows :  sample p ± Zα se(p)   
		Where Zα =1.96 for 95% level   and     se(p) = √(pq/n)
	For example if p=30% then  95% CI = 0.3 ± 1.96 √(0.3x0.7/100)
		=0.3 ± 1.96 x0.046   = 0.21 to 0.39 that is , [21% to 39%]
That is , we expect with 95% confidence that the the population proportion will lie in this interval 

 Similarly, for population mean.  95 % CI  for mean =   mean ± Zα Se(mean) =   mean ±  sd/√n   
Similarly for 95 % CI  for difference of proportions  =  (p1 – p2) ± 1.96 √[( p1q1/n)+ (p2q2/n)]  
Similarly for 95 % CI  for difference of  means  =  (M1-M2) ± 1.96 √[2(sd/n)]  

4.  what is the meaning of  ‘ OR of anemia is  2.5  among  females when compared with males in a region in Nigeria.’
	Explanation:  prevalence of anemia in females is 2.5 times more when compared with males in the region in Nigeria  

5. Relation between CI and p value.
 	a)	  if P<0.05(S),  then we say it is statistically significant.	
	
	 	Then,  CI does not contain ‘0’  in case of  means or proportions  
	  	Then,  CI does not contain ‘1’  in case of OR 	 


	b) 	If P >=0.05 then it is not statistically not significant 
		then CI  will have ‘0’  in case of  means or proportions
	   	then CI will have ‘1’  in case of OR
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